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Early Elizabethan England, 1558-88

Answer Question 1(a), Question 1(b) and EITHER Question 1(c)(i) OR Question 1(c)(ii).

(a) Describe two features of the theatre in early Elizabethan England.
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(b) Explain why Raleigh’s first colony in Virginia failed.
(12)
e A
You may use the following in your answer:
- the native Algonquians
- damage to the ship, The Tiger
You must also use information of your own.
S J
............................................................................................................................................................... )
3
NN OR 000 0 Tur over »
P66 3 7 1 1 A 0 3 1 2




Answer EITHER Question 1 (c)(i) OR Question 1 (c)(ii).
EITHER

(c) (i) ‘The attitude of the Papacy was the main reason why Catholic opposition to
Elizabeth increased in the years 1559-88!

How far do you agree? Explain your answer.

(16)
~
You may use the following in your answer:
« excommunication
« Mary, Queen of Scots
You must also use information of your own.
,/
OR
(c) (ii) ‘Drake’s most significant achievement, in the years 1558-88, was the raid on
Cadiz!
How far do you agree? Explain your answer.
(16)

(‘
You may use the following in your answer:

. 'singeing the King of Spain’s beard’
« privateering

You must also use information of your own.
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